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{5.1~5.54}
5.6 HE WH(r=38mm)¥} FAAFL}E (¢=20mm, b=16mm) THo =2 &
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WY 4 = %w(SS mm)? = 2,268 mm>
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=0
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= 4 (38 mm) = 16.128 mm
3

VA2 z
= —(20 mm)(16 mm) = -320 mm?

NS

= —%(20 mm) = -10 mm

SH

y = %(16 mm) = 8 mm

A4 = (2,268 mm? + (-320 mm? = 1,948 mm?
S(zA) = (00(2,268m?) + (=10 mm)(-320 mm?) = 3,200 mm®
S(yA) = (16.128 mm)(2,268m?) + (8 mm)(-320 mm?* = 34,018 mm?®

5 - Y(zA) _ 3,200 mm®
YA 1,948 mm?
— _ X(yA) 34,018 mm?

Yy = = 5 = 17.463 mm = centroid = (1.64 mm, 17.46 mm)
XA 1,948 mm

= 1.643 mm

r=10cm, a=5cm, WUWH X =V
D 1/4 9% y

I = %(hr) = %w (10 cm) = 15.708 cm

r o= % (10 cm) = 6.366 cm 4 / \
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_ (zr)(ﬂr) = ,?
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%(r -a)+ a= % (r + a) = %[(10 cm)+ (5 cm)] = 7.5 cm

L = 15708+ 5+ 5+ 5+ 5 cm = 35.708 cm
S(z L) = (10)% + (5)(0) + (5)(2.5) + (5)(5B) + (5)(7.5) cm? = 175 cm?

-  Y(zL) 175 cm? - =
= = = = = =
X 7 35.708 o 4.901 cm X Y = 490 cm




5.28

a =80 mm, b =60mm

BCD is horizontal = X =0 = X(z0) =0

@ [ = L Y
_ 7 a
P =2 <>

@ 1l =a =80 mm @ i
1 b BN
xr = ——a = —-40 mm .

2

@ 1= Va®+1b? = 100 mm
z = —%a = -40 mm

S(zD) = g L+ (-40 mm)(80 mm) + (40 mm)(100 mm) = O

L2
= ~— = 7,200 mm® = L =120.0 mm



